Hepco & Becker GmbH
An der Steinmauer 6
D-66955 Pirmasens

Tel.: 06331 - 1453 - 100 ' HEPCO &
Fax: 06331 - 1453 - 120 BECKER
eMail: vertrieb@hepco-becker.de c
www.hepco-becker.de

Der Bausatz umfal3t die folgenden Teile:
Stiick Bezeichnung

8 Sechskantschrauben M6 x 16
8 selbstsichernde Muttern M6
4 Haltekrallen

4 Gegenlaschen

fuir einige Modelle:
1 Bohrschablone

Montagebeispiel
Haltekrallen

Zubehor fur Ledertaschen:

Regenhaube  Nr. 700.406

fur Scarlett, Liberty, Liberty Big, Nevada

Regenhaube  Nr. 700.407
fur Buffalo, Buffalo Custom

Innentasche Nr. 700.406
fur Lederpacktaschen

Innentasche Nr. 700.408
fur Buffalo, Buffalo Custom

Schnellverschlufd Nr. 700.403

fur Ledertaschen

(ermdglicht einen schnellen An- und
Abbau der Lederpacktaschen am
Packtaschenhalter)

OBEN

Packtaschenhalter, Rohr

Gegenlasche
Haltekralle

Packtasche
Ruckwand

Gegenlasche
Haltekralle

Packtaschenhalter, Rohr

UNTEN

Packende Ideen.




Hepco & Becker GmbH
An der Steinmauer 6
D-66955 Pirmasens

Germany
Tel.: +49 6331 - 1453 - 100 " HEPCO &
Fax: +49 6331 - 1453 - 120 BECKER

eMail: vertrieb@hepco-becker.de
www.hepco-becker.de

Assembling instructions

The kit includes the following parts:

Quant description

8 Haxagon bolt M6 x 16
8 self-lock nut M6

4 retaining plate

4 shackles

Example for the
positions of the
retaining plates

for special models:
1 drilling pattern

Accessoires for leather bags:

TOP

Raincover No. 700.406
for Scarlett, Liberty, Liberty Big, Nevada

Raincover No. 700.407

for Buffalo, Buffalo Custom tube of the leather bag holder

Inner bag No. 700.406 retaining plate

for leather bags

Inner bag No. 700.408 shackle
for Buffalo, Buffalo Custom srews

Quick lock release No. 700.403

for leather bags

(for a quick release and fastening of the
leather bags to the leather bag holder)

retaining plate rear panel of the leather bag

shackle

tube of the leather bag holder

BOTTOM

Luggage ideas.



